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F - 115
M.COM. (THIRD SEMESTER)

EXAMINATION, Dec. - Jan., 2021-22
PAPER FIFTH

ACCOUNTING FOR MANAGERIAL DECISION

Time : Three Hours] [Maximum Marks: 80

[Minimum Pass marks : 16

 

Note : Attempt all sections as directed.



Section - A


(Objective/Multiple Choice Questions)

1. 

(A) 

(B)  

(C) 

(D) 

Which is not included in quick assets?

(A) Inventery (B) Trade receivables

(C) Cash at Bank (D) Cash in hand

P. T. O.
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2  

(A)  

(B)  

(C) 

(D) 

Operating Ratio is -

(A) Profitability  Ratio

(B) Activity  Ratio

(C) Solvancy Ratio

(D) None of these

3. 

(A) 

(B)  

(C)  

(D) 

Which of the following is non-current assets?

(A) Current Assets

(B) Trade investment

(C) Bills Receivable

(D) Debtors
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 
(A) 
(B)  
(C) 
(D) 
Cash flow statement is prepared from-

(A) Balance Sheet

(B) Profit & Loss a/c

(C) Additional infromation

(D) All the above

5. 

(A)  

(B)  + 

(C)  + 
(D)  + 
Product cost in margine costing means-

(A) Prime cost

(B) Prime Cost+Variable overheads

(C) Prime Cost+Semi variable overheads

(D) Prime cost + Fixed Cost

6. 


(A) 

(B) 
(C) 

(D) 

P. T. O.
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What is the effect of decrease in variable cost on B.E.P?

(A) Decrease

(B) Increase

(C) No change

(D) None of these

7. 

B.E.P. in Rs. -

(A)
Fixed cost
P / V Ratio

(B)
Fixed cost
C per unit

(C)
Fixed cost× 100

P / V Ratio

(D)
P / V Ratio
Fixed cost

8. 

Ideal Aid Test Ratio is-

(A) 1 : 2

(B) 2 :1

(C) 3 : 1

(D) 1 : 1
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9.           


Which Formula is used for counting material mix
variance?

(A) SP (SQ-AQ)

(B) SP (RSQ-AQ)

(C) SP (SQ-RSQ)

(D) AP (RSQ-AQ)

10. 

Margin of safty is-

(A) Sales - Fixed cost

(B) Sales - Variable cost

(C) Sales - Total cost

(D) Sales - B.E.P.



State wether the following statements are true or false.

11. 

Surplus of  sales over variable cost is known as profit.

12. 

Increase in debtors, decrease cash.

13. 

Depriciatation is source of fund.

14. 

Net sales help in improving in Current Ratio.
P. T. O.
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15. 2 :1

Empirical Proving Ratio of current raio is 2 : 1

16.    

Budget is a system of mangerial information system.

17. 

Horizontal analysis is also known as dynamic analysis.

18. 

James H. Bills is the originator of Management Accounting
Concept.

19. 

Contribution is also known as gross margin.

20.   

Joseph Juran was father of quility costing.



Section - B

(2 Marks each)



(Very Short AnswerType Questions)



 

What do you understand by Value Chain Analysis?

2.  

What is meant  by Product Life Cycle Costing?
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3.     

Explain the concept  of Cost Drivers.

4. 

What are the purposes of accounting infromation?

5. 

What do you understand by Accounting Report.

6. 

What is internal Rate of Return Method?

7. 

Explain fixed overhead variance.

8. 

What is meant by budgeting?



Section - C

(3 Marks each)



(Short Answer Type Questions)



Note - Attempt all questions in about 75 words.

1. 

What is margin of safety? How is it calculated?

2.      

Discuss the uses of differential costing.

P. T. O.
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3.   

Write down limitations of Marginal Costing.

4.         
 

From the following information, calculate cash flow from
investing activities.

Particulars 31st March 2014 31st March 2015

Machinery(at cost) 8,00,000 8,40,000

Accumulated 2,00,000 2,20,000

Depreciation

          
  

During the year a machine costing Rs 80,000 with
accumulated depreciation of Rs 48,000 was sold for
Rs 40,000

5. 

What is an operating ratio? How is it calculated?

6. 

What is meant by Financial Analysis?

7. 

What is meant by Income Statements?

8. 

What is meant by Current Liabilites?
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

Section - D

  (5 Marks each)



(Long Answer Type Questions)



Note- Attempt all questions.

1. 

What is cash flow statement? How is it prepared?

 /Or




The cost of producing 500 units of product is as follows :

Direct materials 

Direct Wages 

Factory Expense 

  Administration Expense 

   

Selling & distribution Exp.

 


 

(A)   

(B)    
  

P. T. O.
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50% of factory expenses and 25% of selling and distri-
bution Exp. are variable. Prepare statement of cost of
profit by-

(A) Full costing Methods and

(B) Marginal costing Method.

2. 
         
    

(A)   (Break even Sales)

(B)   (Total Sales)

(C)    (Total Variable Costs)

(D)   (Current Profit)

A company maintains a margin of 37.5% with an overall
contributioin to sales ratio of 40% it's fixed costs amount
to Rs 5,00,000. Find out the following-

(A) Break even Sales

(B) Total Sales

(C) Total variable Cost

(D) Current Profit

Or

 

From the following particulars, Prepare the fund flow

Statement : If rs 500 will be treated as issue of capital
then net profit will be Rs.15,000
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Particular-
1. Equity & Liabilities share holder's

fund.
Equity share capial Reserve  and
surplus
General Reserve
Profits & loss -       balance
Non current liabilities 15% Deben-
tures
Current liabilities:

Trade payables

2. Assets-
Non current assets:

Fixed assets:
Current assets-

Inventioned
Trade receivables

Cash and cash equivalents
Unamortised Preliminary
Expenses

31.3.15

130,000

15,000
30,000
20,000

42,000
2,37,000

1,66,000

26000
39000
5000

1000
2,37,000

31.3.14

90,000

10,000
20,000

—

37400
1,57,400

93400

22000
36000
4000

2000
1,57,4000

P. T. O.
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(Additional Information)

(i) 23,400

Description changed on fixed Assets, 23,400

(ii) 

Dividend of Rs 20,000 was paid on equity share
capital.


 

Prepare a schedule of chages in working capital and
funds flow Statement.

 



Or

  

Discuss the steps and advantages of activity based
costing.

4. 


What is variance analysis? what are the types of
variances.

Or



What is Traget Costing? Discuss it's advantages.


